%5957 2012 2012.12.30

20124E INER el R RO ERR Eakol BARUS) | HAR(Z)
JEGL| 5= | IBAL| 155 | BGL| 55| B 5| B Ba | IERL| S| IEAL ) T IEGL | T s

144 E1$/ S5 4] 120 1l 26 8| 244] 3| 59 4 94 1] 62| o o 0 0
/Yy | 25% 30| 13w 26| 47%| 31 19%| 20| 29% 24| 8% 62 0 0 0 0

ofir B3/ S8 3 3 6] 20 3l 10 3| 25 3l -19 4] 18 0 0 0 0
/Y | 19% 1| 75% 3| 18% 3| 19% 8| 21% -6 31% 5 0 0 0 0

18 34 Bk =t 2| -14 1| -15 4] -10 6] -43 3] -40 4] -31 0 0 0 0
/Yy | 134 -7 13%| -15] 24%| 3| 38%| -7| 21%| -13] 31%| -8 0 0 0 0

4 B3/ S8 7| —201 0 0 2| -59 4| -75 4] -100 4] -74 0 0 0 0
T/EH | agw] 29[ 0% o] 12%] -30] 25% -19] 29%] -25[ 31%| -19 0 0 0 0

wa ZEES/ A 16 -92 8] 31| 17| 185] 16| -34] 14] -65] 13| -25 0 0 0 0
gt/ a8 28] -58] 20| 39| 20| 109] 27| -21] 25| -46] 28] -19 0 0 0 0

141 B3/ S8 6| 168 4] 128 5| 126 3l 74 2 45 5| 140 1l 13 0 0
/i 27% 28| 44%| 32| 33%| 25| 19%] 25 11% 23] 29%| 28] 17%| 13 0 0

2z B3/ S8 5 7 1l -3 4] -5 4] 14 4] -1 6| -14 4 -6 0 0
H/E | 23% 1| 1% 3] 27%] 1] 25% 4l 21% -3| 35% -2| 67% -2 0 0

28 | 3t B3/ S8 5| -49 2| -14 3| -37 3| -26 6] 51 4] -26 1| -4 0 0
/Y | 23%| -10] 22%] -7| 20%| -12f 19%] -9 32% 9| 24% -7| 17% -4 0 0

4 B3/ S8 6| -123 2| -27 3| -52 6] -102 7| -118 2| -47 0 0 0 0
/Y | omw| 21| 20%] -14] 20%] -17] 38%] -17] 37%] 17| 12w -24] 0% 0 0 0

wa ZEES/ AN 22 3 9l 84| 15| 32| 16| -40] 19| -135] 17| 53 6 0 0
gt/ s 25 01| 22| 93| 23| 21| 28] -25| 29| -7 22[ 31 20[ o5 0 0

141 B3/ S8 2| 74 9] 301 4] 117 1| 26 6] 141 4] 112 1| 24 0 0
=/ 9% 37| 36%| 33 20%| 29 ou| 26 29% 24| 40%| 28] 20% 24 0 0

2z B3/ S8 8 21 5 5 4] 26 2l -9 5 34 0 0 4 -1 0 0
H/EH | 36% 3| 20% 1| 29% 7] 18% -5| 24% 7] 0% of 8o%| -0 0 0

38 | st E1$/ S5 3l -16 7| -66 4| -40 4| -48 50 37 3 34 of o 0 0
/Y | 144 -5 28w| -9 20%| -10 36%| -12] 24% -7[ 30%| -11] 0% 0 0 0

M B E: 9| -209 4| -94] 2| -38 4] -101 5[ -137 3| 51 of o 0 0
T/ | 41| 23] 16%| -24] 14%| -19] 36%| -25] 24%| 27| 30%[ -17[ 0% 0 0 0

wa zarms/ s 22| -130] 25| 146] 14| 65| 11] -132] 21 1| 10l 27 5| 23 0 0
gt/ a8 29[ 59| 22| 58] 23| 46| 30[-120] 24 00/ 25| 27| 18] 46 0 0

14 EEWSE. 3] 89 7| 169 9| 258 3| 62 2 58] 4] 97 1] 31 0 0
/Yy | 15% 30| 37%| 24 35%| 29 18| 21 11% 29| 33%| 24| 33% 31 0 0

ofis BEE: 7l 17 8| 35 3| 11 6| -13 3 15 AR 1] -3 0 0
/L | 35% 2| 42% 4] 12% 4] 35% -2| 16% 5| 17%] -2| 33%| -3 0 0

4B | 3t BEE: 5] -50 4] -18 7| —64] 4| -49 6] -45 3l -37 of o 0 0
/Y | 25% 10| 21%| -5 27%| -9 24w -12] 32% -g| 25%| -12[ 0% 0 0 0

M BEE: 5 -107 0 0 7| -128 4| -88 8| -190 3| -35 1] -12 0 0
T/ | 254 21 0% o] 27%| -18] 24%| -22| 42%] 24| o25%| -12] 33%| -12 0 0

wa zarmEs/ s 200 51 19| 186] 26| 77| 17| -s8] 19| -162] 12| 22 3| 16 0 0
gt/ s 26| 26| 18] 98] 25| 30| 25| -52| 31| -85 24 18] 23] 53 0 0

144 BEWSE 3| 88 3| 82| 11] 414 1| 28 2 52 3l 133 of o 0 0
/EY | 18w| 20 25%] 27 e1%] 38 10%] 28] 10% 26| 20%| 44 0 0 0 0

ofr B3k / = £ 6 4 5| -32 3] 18 4 -23 5 32 2| 22 0 0 0 0
/L | 35% 1| 4% -6] 17% 6| 40%| -6 25% 6] 13%f 11 0 0 0 0

58 34 B3k / = £ 3] -52 2| -29 2| -19 2| -27 4 43 8l -99 0 0 0 0
/Y | 184 -17] 17%] -15] 11%| -10] 20%| -14] 20%] -11] 53% -12 0 0 0 0

4 B8/ = L 5/ -110 2| -38 2| -51 3| -85 9| -217 2| -48 0 0 0 0
/Yy | 204 22| 17%| -19] 11%| -26| 30%| -28| 45%| 24| 13%| -24 0 0 0 0

wa arms/ s 17] -70]  12] -17] 18] 362] 10 -107] 20| -176] 15 8 0 0 0 0
gk s 26| -41| 23] -14] 1.7 201] 27|-107] 30| -88[ 26 05 0 0 0 0

14 B3/ = £ 5 182 6| 179 0 0 2| 31 2 76 5| 128 0 0 0 0
#/FEY | 28%| 36| s50%] 30[ 0% o] 17% 16| 13% 38| 38% 26 0 0 0 0

ofr B3/ = £ 4 1 3] 24 4| 35 3 8 3 1 3 4 0 0 0 0
/EY | 22% 0| 25% 8| 44% 9| 25% 3| 19% 0] 23% 1 0 0 0 0

68 34 B3/ = £ 4 -24 2 4 3] -35 6| -38 3 -26 2| -34 0 0 0 0
/EY | 22% 6| 17% 2| 33%| -12| 50%| -6] 19% -9 15% -17 0 0 0 0

4 BT 5| -124 1| -40 2| -58 1] -34 8| -203 3| -57 0 0 0 0
/Yy | 284 25| su| -4o 20%| -20 sw| -34] s0%| 25| 23%| -19 0 0 0 0

ao BetEg/am 18] 35| 12 167 ol 58] 12| -33] 16| -152] 13| 41 0 0 0 0
OB s ms 25| 19| 18| 139 28] 64| 25 —28] sa] —9s] 22 s2]  of o of o
141 B8/ = £ 6] 205 4| 94 5| 154 3] 64 1 45 3] 92 2| 67 0 0
T/ | 35%| 34| 36w| 24 22| 31 204 21] 6% 45 33%| 31| 50%| 34 0 0

o B8/ = £ 4 11 5 9 5 16 4 19 3 -11 2] -1 1 0 0 0
/LY | 24% 3| 45% 2| 22% 3] 27% 5| 18% -4 209 1| 25% 0 0 0

78 34 @*ﬁ/ﬁ“ﬁ 3] -31 1] -5 5| -33 7] -95 6 —66 2| -17 0 0 0 0
w/EY | 1sw]  -10] ow| -5 204 -7 47%] -14] 35%] 11| 20%| -of 0% 0 0 0

Az B3/ £ 4  -69 1] -15 8| -160 1] -35 71 -160 2| -55 1| -23 0 0
/Yy | 244 17| ou| -15| 35%| —20] 7w| -85 41| 23] 204 -28] 25%| -23 0 0

no BetEgam  17] 116l 11] 83 23] 23] 15[ -47] 7] -192 9 19 4] 44 0 0
PO e ime s 23] 68| 19l 75 27] 10| 24] 34| sa] 113 23] 21 20 110[ o] o




144 E$/ S5 1 29 3l 104/ o] o 5| 134 1 26| 4| 155 1] 26
/i 9% 29| 43%] 35 0 o| 384 27| 8% 26| 27%| 39| 504 26

ot E$/ S5 2 1 3 2 of o 3] 23 1 14 5[ 12 1 6
/Y | 18% 1] 43y% 1 0 o] 23% 8| 8% 14| 33% 2| 50% 6

88 34 [/ =3 2| -29 1| -12 0 0 5 -50 5| -57 2| -15 0 0
#Z/FY | 18w| 15[ 14%] -12 0 o| 384 -10| 424 11| 13%] -8 0% 0

4 B3/ S8 6| -176 0 0 0 0 0 0 5/ -103 4] -90 0 0
/Y | 55% 29[ 0% 0 0 o] 0% o] 42%| -21] 27%| -23] 0% 0

wa REtES/ A 11| 175 7| 04 0 ol 13 107] 12| -120] 15| 62 2| 32
gt/ a8 3.2 -159] 1.7] 134 0 o] 20l 82| 32| -100] 24| 41| 15[ 160

144 EEWSE 4] 132 4] 132 9| 311 2| 60l 4] 139 2l 72l o] o
#Z/FY | 19%| 33 22%] 33 53%] 35| 13%] 30 31% 35| 18%| 36| 0% 0

2z B3/ S8 5 31 7 4 4] 33 4] -19 3 -7 2 2 1l -18
H/EY | 24% 6| 39% 1| 24% 8|l 25%| -5 23% -2| 18% 1| 25%| -18

9A 34 B3/ S8 3| -40 5| -78 2] -10 5| -47 2] -34 5| -39 2| -17
F/EY) | 14%] -13] 28%| -16] 12%| -5 31%] -9| 15%| -17] 45%| -8 50%| -9

4 B3/ S8 9| -226 2| -55 2| -49 5| -96 4] -111 2| -43 1| -27

E/FH 43%  —25] 11%| -28f 12%] -25] 31%] —-19{ 31% —28] 18%| —22] 25%| -27
we RETEH/ =8 21 103 18 3 17| 285 16] -102 13 -13 1 -8 4] -62
MO L ip mgl 28] 49 23] o2 18] 168] 28] -64] 25 -1.0] 2.6] -0.7f 3.0[-155

E1%%/ R 7] 211 3] 106 6] 133 2] 40 1 32 4] 109 3] 100

L.
1 /i 33% 30| 43%] 35| 26% 22 15%] 20| 6% 32| 27%| 27| 38% 33
2z B3/ S8 3 0 3] -5 4 3 4 3 3 10 5| 15 5| -10
/i 14% o 43% -2| 17% 1] 31% 1] 18% 3| 33% 3| 63% -2
108 | 3tz B3/ S8 6] -50 0 0 5| -64 5| -57 4] -26 5| -41 0 0
=/ 29% -8 0% 0| 22% -13] 38%| -11| 24% -7] 33% -8 0% 0
4 B3/ S8 5] -91 1| -12 8| -155 2| -64 9] -178 N 0 0

E/FH 24%] 18] 14%| -12] 35%] —19] 15%| -32| 53% -20] 7% 9] 0% 0
we RETEH/ A 21 70 7] 89 23] -83 13| 78 17] 162 15| 74 8] 90
P e Eg ] 2.4 33| 19f 127 27| -36] 25| -60f 32 -95| 22| 49| 16[ 113

EEWSE AT 6| 171 4] 87 2| a4l 6] 207 1] 4] o] o

L
1 H/E | 15% 24| 46%] 29| 27%| 22| 13%] 22| 40% 35| 10%] 40| 0% 0
ofis B E: 4] 17 2| 28 4] 20 6] -1 1 -5 5 19 of o
F/EY | 31% 4l 15%| 14| 27% 5| 38% -0 7% -5| 50% 4] 0% 0
1A | st B E: 4] -38 4| -21 2| -11 4| -77 3 -3 3[ 21 of o
F/EY) | 31% -10] 31%] -5 13%] -6] 25%] -19] 20%| -10| 30%| -7[ 0% 0
M B E: 3| 94 1| -25 5| —123 4| -88 5] -101 1] -14 2| 31

E/EH 23%] 31 8% —25] 33%| -25] 25%] -22| 33% —20] 10%] —14] 100%| -16
we ZEtER/ =8 13| 67 13| 153 15| 27 16 —122 15 70 10| 24 2| 31
PP e mg] 26] 52 20] 118] 25] 18] 26 -76] 25 47| 24] 24 40[-155

| EEY/ B3 6| 200 7| 250] 3] 77 2| 35 0 0 3| 84 7| 195

1431
#=/EH | s0u| 33 33w 36 21 26 13w 18] o 0| 23% 28] 504 28
| EEY/ S 5/ -8 4 -1 2 8 5| -15 4 7 I 3l 13

241
/L | 25% -2| 19%] -0| 14% 4| 33%| -3 27% 2| 54%] -0 21% 4
128 | st BEE: 4] -39 6| -77 4| -45 5| -28 50 68 o o 2| -16
/Y | 20w 10| 20u| -13] 20u| —11| 33%| 6| 339 14| ou| o] 14%] -8
4 B3k / = £ 5| -108 4| -65 5| -95 3| -53 6] -164 3| -46 2| -40

/T 25%] 22| 19%| -16] 36%] —19] 20%| -18] 40% —27| 23% —15] 14%| -20
wa RETEH/ A 20 45| 21| 107 14| 55 15| 61 15| 225 13| 37 14] 152
e 3F@JIE1?L/,%'E¥5| 2.4 23] 23] 51| 28] -39] 26] -41] 31f -150] 22| 28 19| 109

[=1 (=] =1 (=1 (=1 [=2[=1[=2[=1[=] (=1 [=] (=1 =R (=R (=R (=R (=1 (=1 [=1 =1 (=1 =1 (=2 (=2 (=R (=R (=R =R (=1 (=1 (=1 (=1 (=1 (== (=1 [=2 (=2 [=] (=2 =] =2 (=R =R =R =1 (=1 (=1 (=]
[=1 (=] =1 (=1 (=1 [=2[=1[=2[=1[=] (=1 [=] (=1 (=R (=R (=R (=R (=1 (=1 [=1 =1 (=1 =1 (=2 (=2 (=R (=R (=R =R (=1 (=1 (=1 (=1 (=1 (== (== (=2 =] (=2 =] (=2 (=R =R =R (=1 (=1 (=1 (=]

=/ 32%| —24] 11%| -21] 24%| -21] 22%| -22| 39% -23| 20%| -19] 15%| -19

no |RETES/ A% 218 —419] 162)1,126[ 191] 760] 170] —737] 198[ —1,331] 153| 334 48| 267
iy =]

14 E%/ m#| 49| 1546] 57|1742] 64|1921] 29| 657 31 915 39[1224] 16| 456 0 0
/Yy | 224 32| 35%| 31 34%| 30f 17%] 23] 16% 30| 25% 31| 33% 29 0 0

2z %/ m2k| 56| 105] 52| 86| 40| 175] 48] 12| 38 60| 43| 73] 20| -19 0 0
/LY | 26% 2| 32% 2| 21% 4] 28% 0] 19% 2| 28% 2| 42%| -1 0 0

20124 34z E%/ m#h| 44| -432| 35| -331| 41| -368| 56| -585| 52| -524] 41| -394 5| -37 0 0
25t /Yy | 204 -10] 22%| -of 21%| -of 33%| -10| 26%| -10| 27%| -10| 10%| -7 0 0
4z B/ =8| 69]-1638] 18] -371] 46| —968] 37| -821| 77| -1,782] 30| -569 7] -133 0 0

0 0

0 0

0 0

0
?f@lllﬁ{ﬁ/}f—iﬁl 26 -19] 21| 70| 24 40| 26] -43] 29 6.7 24| 22| 241 5.6 6

SE)FIERFE (PRI LD RERERE=A T E50/F ., REtFFE40E/FLIE,)
gtz [ 1A [2A [3A[4A[5A[6A[7A] 88 [9A [10A[11A12A[FM| iz

HaE|+re | we| v wE|ve| v v | #E | +s | e |xE b8 | 695 -
2| e | ot | zE | wE | ont [ oxt | k| Bo | b8 xEEad] b ke 556 67
3wt | mm skt st | pg | vk [ ot | ot [ st | bt | oot [ oot | g | 398 302
4 gt | 2.18 275
5 Ik [-1.92 895
6 RO [-4.34 410
1 ERA[-6.72 473

T8%



